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Pronoun

Explanations

Two similar things should be compared, so use 'to
that of this house' in place of 'to this house'.

'T" should be replaced with 'me' because verb takes
objective case after it.

'Who' is referring to plural word 'those' so it should
be followed by plural pronoun 'their' in place of
'his'.

Road is non-living, so 'whose inauguration' should
be replaced with 'inaugration of which'.

In question tag sentences, starting with 'let', 'shall'
is used for confirmation.

Packet of sweets is given to all the girls. So, 'her’
should be replaced by 'them'.

'One another' should be replaced with 'each other'
because there are two brothers.

'Let' should be followed by objective case of a
pronoun. So, use 'me' in place of 'T'.

'Everybody' is a singular term. So, it will take a
singular pronoun. Use 'his' in place of 'their".

No error.

'Who' in place of 'whom' as here is the subjective
case.

Use 'he' in place of 'him', because component of a
verb 'to be' is expressed by a pronoun in nominative
case.

Use 'it' in place of 'that' for dog.

Allowances are required for the directors. So, "itself
should be replaced with 'themselves'.

Both the subjects are singular. So, singular verb 'is'
should be used here.

Relative pronoun 'which' should be replaced with
'that' because here 'best' is the superlative degree.
Remove 'they' as its use is superfluous here.

Use 'her' in place of 'their', because every woman is
a singular and female term.

Replace 'her's' by 'hers', because possessive case of
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her is hers.

'He' should be replaced with 'one' because it is
referring to indefinite pronoun 'one'.

'Who' in place of 'whom I said'.

'Our' should be used in place of 'your' as it is referring
to you and I.

The Bengal Chamber of commerce is a collective
noun so it will take the pronoun 'it'.

Use 'ours' or 'our country' in place of 'our' for
possession.

Replace 'is it' with 'isn't it' because it s a question tag.
Here, reference is today. So, 'it' should be used
before 'being'.

Here, school girl is not specified. So, relative
pronoun 'who' should be used in place of 'that'.

'It is true' is the correct term because 'it' is used
before the phrase it refers to.

It should be 'Ranjit, Sonu and I' because for singular
pronouns 231 rule is followed.

Use one's' in place of 'his' because 'one' is followed
by its possessive case one's.

'Writing of Plato' is the correct term, because 'who'
is used for Plato, not for writings.

'Their' should be used in place of 'his', because Vice
President and Vice Chancellor both are preceded by
'the’.

Replace 'you' with reflexive pronoun 'yourself'.
'"Whomever' should be replaced by 'whoever'
because here it is used as a subjective case.

Use 'mine’ in place of 'me' for possession.

Use 'her' in place of 'his' for mother (female).
Replace 'each other' by 'one another' because here
the reference is to five partners.

'Which' in place of 'who' because we are choosing
his mother in the crowd.
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Here selection is made between two pictures so 'any'
should be replaced with 'either'.

No error.

'Poisoned himself' in place of 'poisoned him'.
Replace 'they that' with 'those who' for demonstration.
'Weren't you' in place of 'isn't he' because here the
verb and person are 'were' and 'you'.

Reflexive pronoun can never be used as the subject
of the sentence. So replace 'myself by 'T'.

No error.
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Replace 'mone' by 'neither', because here are only
two Principals.

Remove 'that' before 'what' because relative pronoun
'what' is used without any antecedent.

Relative Pronoun 'which' should be replaced by
'who' because 'criminal' is a living person.
Prepositions are always followed by the objective
case of a pronoun. So, replace 'himself' with 'him'.
Here we are talking about 'three sons'. So, none'
should be used in place of 'neither'.
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